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Time, Distance and Speed

TIME & DISTANCE  (le; vkSj nwjh)
(CLASSROOM SHEET)

Basic Formulae

Speed  = 
Distance

Time
, pky = 

njw h
le;

Time = 
Distance

Speed
, le; = 

njw h
pky

Distance = Speed × Time

nwjh = pky × le;

Two frineds left Delhi for Goa at 5 a.m. One friend

who went by train reached Goa in 24 hours and other

friends who went by Aeroplane reached in 3 hours.

nks fe=k fnYyh ls xksok ds fy, iwokZÉ 5 cts fudyrs gSaA ,d fe=k

jsyxkM+h ls 24 ?kaVs esa vkSj nwljk gokbZ tgkt ls 3 ?kaVs esa xksok

igq¡prk gSA

We know that speed of aeroplane is more than train

so time taken by train is more than that of aeroplane.

ge tkurs gSa fd gokbZ tgkt dh pky jsyxkM+h ls vf/d gksrh gSA

blfy, jsyxkM+h }kjk gokbZ tgkt ls vf/d le; fy;k x;kA

It can be infer from above explanation that

Speed 
1

Time
  (When distance is constant)

mi;qZDr ls ;g Li"V gS fd pky 
1


le;  (tgk¡ nwjh fu;r gS)

If two athlete run for constant time then distance

covered by the athlete whose speed is more would

be more.

;fn nks /kod fu;re le; ds fy, nkSM+s rks ftldh pky vf/d

gksxh og vf/d nwjh r; djsxkA

It can be infer from above explanation that distance

 time taken (when speed is constant)

mi;qZDr fooj.k ls Li"V gS fd

nwjh   fy;s x;s le; (tc pky fu;r gks)

Units of Measurement/eki ds ek=kd

 Time is usually measured in second (sec), min-

utes (min) or hours (hr).

le; dks lkekU;r% lsdaM] feuV vFkok ?kaVs esa ekirs gSaA
 Distance is usually measured in meters (m),

kilometer (km) or mile, yards or feet.

nwjh dks lkekU;r% ehVj] fdyksehVj] ehy vFkok ;kMZ esa
ekirs gSaA

 Speed is usually measured in km/h, mile/hr

or m/sec.

pky dks lkekU;r% fdeh@?kaVk] ehy@?kaVk vFkok eh@lsdaM esa
ekirs gSaA

Conversion of Units/ek=kdksa dk :ikarj.k
1. 1 h = 60 min = 60 × 60 = 3600 sec.

2. 1 km = 1000 m

3. 1 mile = 1.606 km or 1 km = 0.6214 mile of 5

mile = 8 km

4. 1 yard = 3 ft

5. a km/hr = a × 
1000

60 × 60
 m/sec

= a × 
5

18
 m/sec

a m/sec = a × 
60 × 60

1000
 km/hr

= a × 
18

5
 km/hrEX

EXERCISE
1. Dimple is travelling at a speed of 90 km per

hour on a highway, while Sachin is travelling
at a speed of 108 kim per hour. What is the
difference in their speeds, in metres per

second?

fMaiy ,d jktekxZ ij 90km/h dh pky ls ;k=kk dj
jgh gS] tcfd lfpu 108km/h dh pky ls ;k=kk dj jgk
gSA ehVj izfr lsdaM esa] mudh pky esa varj dh x.kuk djsaA

SSC CHSL 09/08/2021 (Shift- 1)

(a) 5 (b) 6

(c) 4 (d) 3
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Time, Distance and Speed

2. A man runs 200 metres in 24 seconds. His speed is:

,d vkneh 24 sec esa 200 m nkSM+rh gSA mldh xfr Kkr
dhft,A

SSC CHSL 02/06/2022 (Shift- 3)

(a) 30 km/h (b) 32 km/h

(c) 24 km/h (d) 33 km/h

3. A car covers a distance of 90 km in 50 min.

What is its speed (in m/s)?

,d dkj 50 feuV esa 90km dh nwjh r; djrh gSA bldh
xfr (m/s esa) D;k gS\

SSC CGL 19/04/2022 (Shift-02)

(a) 30 (b) 90

(c) 108 (d) 60

4. An athlete crosses a distance of 3600 m in 12

minutes. What is his speed (in km/h)?

,d ,FkyhV 12 feuV eas 3600 m dh nwjh r; djrk gSA
mldh pky (km/h eas) Kkr djsa\

SSC CHSL 07/06/2022 (Shift 02)

(a) 15 (b) 17

(c) 18 (d) 16

5. The speed of a train is 108 km/h. The distance

covered by the train in 11 seconds will be:

,d Vsªu dh pky 108 km/h gSA Vsªu 11 lsd.M esa fdruh
nwjh r; djsxh\

SSC CHSL 26/05/2022 (Shift- 2)

(a) 620 m (b) 540 m

(c) 440 m (d) 330 m

6. Which of the following is NOT a correct

statement?

fuEufyf[kr eas ls dkSu&lk lgh dFku ugha gS\

SSC CGL 05/12/2022 (Shift- 03)

(a) The speed of 20 m/s is less than the speed

of 85 km/h./20 m/s dh pky 85 km/h dh pky
ls de gksrh gSA

(b) Time may be calculated by dividing the

distance by the speed./nwjh dks pky ls foHkkftr
djds le; dh x.kuk dh tk ldrh gSA

(c) Covering the same distance in lesser time

implies a higher speed./de le; esa leku nwjh
r; djus dk vFkZ gS mPp pkyA

(d) The speed of 99 km/h is less than the

speed of 24 m/s./99 km/h dh pky 24 m/s

dh pky ls de gksrh gSA

TYPE-01
7. A lady walks to her office every day from home

and maintains a fixed time for the same. On
one day she decreases her speed by 25%. By
what fraction of her usual time will she be late

on that day?

,d efgyk izfrfnu ?kj ls vius dk;kZy; iSny pydj
tkrh gS] ftlds fy, mlus ,d le; fu/kZfjr fd;k gSA
fdlh ,d fnu og viuh pky dks 25» de dj nsrh gSA
ml fnu mls vius lkekU; le; ds fdl Hkkx (fraction)

rd nsjh gksxh\
SSC MTS (Shift- II) 12/10/2021

(a) 1/3 (b) 1/4

(c) 1/6 (d) 2/3

8. If Ram covers a certain journey at 60% of his

usual speed, he reaches the destination late

by 36 min. His usual time (in min) to reach

the destination is:

;fn jke ,d fuf'pr ;k=kk viuh lkekU; pky dh 60»
pky ls r; djrk gS] rks og 36 feuV dh nsjh ls xarO;
ij igq¡prk gSA xarO; rd igq¡pus eas mldk lkekU; le;
(feuV eas) gSA

SSC CGL 01/12/2022 (Shift- 04)

(a) 60 (b) 72

(c) 50 (d) 54
8. Rajdhani Express leaves, Delhi station one and

half hour late and increases its speed by 10%
and reached Patna on Scheduled time. Find
usual time taken by train to reach Patna from
Delhi.

jkt/kuh ,Dlizsl fnYyh ls iVuk ds fy, 1 ?kaVk 30 feuV nsjh
ls fudyrh gS vkSj viuh pky esa 10» dh òf¼ djds iVuk
fu/kZfjr le; ij igq¡prh gSA Vªsu }kjk fnYyh ls iVuk igq¡pus esa
fy;k x;k lkekU; le; Kkr dhft,A

(a) 16 hours (b)
1

16
2

 hours

(c)
2

16
3

 hours (d)
1

12
2

 hours

10. A train reduced its speed by 
2

5
 of its usual

speed and reached certain destination 3 hours
late. Find present time taken by train to reach
destination.

,d jsyxkM+h viuh lkekU; pky esa 
2

5
 dh deh djus ls

fdlh fuf'pr xarO; LFkku ij 3 ?kaVs dh nsjh ls igq¡prh gSA
jsyxkM+h }kjk xarO; LFkku rd igq¡pus esa fy;k x;k orZeku
le; Kkr dhft,A
(a) 7 hours (b) 8 hours

(c)
1

6
2

 hours (d)
1

7
2

 hours
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Time, Distance and Speed

11. Shatabdi Express left Delhi 40 min late. After
covering half of the distance it increased its

usual speed by 
1

6
 of original speed and

reached Chandigarh on scheduled time. Find
usual time taken by Shatabdi Express to cover
complete journey.

'krkCnh ,Dlizsl fnYyh ls 40 feuV dh nsjh ls fudyrh
gSA vk/h nwjh r; djus ds ckn ;g viuh lkekU; pky esa
1

6
 dh o`f¼ djrh gS vkSj paMhx<+ fu/kZfjr le; ls igq¡p

tkrh gSA laiw.kZ ;k=kk esa 'krkCnh ,Dlizsl }kjk fy;k x;k

lkekU; le; Kkr dhft,A

(a) 560 minutes (b) 520 minutes

(c) 540 minutes (d) 420 minutes

12. A car takes 50 minutes to cover a certain

distance at a speed of 54 km/h. If the speed is

increased by 25%, then how long will it take to

cover three-fourth of the same distance?

dksbZ dkj] 54km/h dh pky ls fdlh fuf'pr nwjh dks 50
feuV esa r; djrh gSA ;fn pky esa 25» dh òf¼ gksrh gS] rks
dkj ml nwjh ds 3@4 Hkkx dks fdrus le; esa r; djsxh\

SSC CHSL 12/08/2021 (Shift- 3)

(a) 25 minutes (b) 35 minutes

(c) 30 minutes (d) 40 minutes

13. If a car increases its speed from 24 km/h to
40 km/h, it would reach certain destination
1 hours early. Find the distance.

;fn dksbZ dkj viuh pky 24 fdeh@?kaVs ls c<+kdj 40
fdeh@?kaVk dj ns rks ;g vius xarO; LFkku ij 1 ?kaVs igys
igq¡p tk,xhA nwjh Kkr dhft,A
(a) 60 km (b) 48 km

(c) 72 km (d) 54 km

14. If a train reduce its speed from 70 km/hr to
62 km/hr it would reach certain distance 1
hour late. Find the distance covered by train.

;fn dksbZ jsyxkM+h viuh pky 70 fdeh@?kaVs ls ?kVkdj 62
fdeh@?kaVk dj ns rks ;g vius xarO; LFkku ij 1 ?kaVs dh
nsjh ls igq¡psxhA jsyxkM+h }kjk r; dh xbZ nwjh Kkr dhft,A
(a) 540.5 km (b) 535.5 km

(c) 542.5 km (d) 545.5 km

15. Walking at 60% of his usual speed, a man
reaches his destination 1 hour 40 minutes
late. His usual time (in hours) to reach the
destination is :

viuh lkekU; pky dh rqyuk esa 60» pky ls pyrs gq,
,d O;fDr vius xarO; LFky ij 1 ?kaVs 40 feuV dh nsjh
ls igq¡prk gSA xarO; LFky rd igq¡pus esa mls yxus okyk
lkekU; le; (?kaVs esa) gS %

SSC CGL TIER II (13 /09/2019)

(a)
1

2
2

(b)
1

2
4

(c)
1

3
8

(d)
1

3
4

16. A takes 2 hours 30 minutes more than B to

walk 40 km. If A doubles his speed, then he

can make it in 1 hour less than B. How much

time (in hours) does A require for walking a

40 km distance?

40 km dh nwjh r; djus eas A dks B ls 2 ?kaVs 30 feuV
vf/d yxrs gSaA ;fn A viuh pky nksxquh djrk gS] rks
og bls B ls 1 ?kaVk de le; eas r; dj ldrk gSA A }kjk
40 km dh nwjh r; djus esa yxus okyk le; (?kaVs esa)
Kkr djsaA

SSC CPO 23/11/2020 (Shift-1)

(a) 7 (b) 5

(c) 6 (d) 9

TYPE-02

A man go a certain distance with x km/hr and
comes back with a speed of y km/hr. If he
takes t hour to go and come back. Find the
distance?

,d vkneh x fdeh@?kaVk ds lkFk ,d fuf'pr nwjh r;
djrk gS vkSj y fdeh@?kaVk dh xfr ls okil vkrk gSA ;fn
mls tkus vkSj okil vkus esa t ?kaVk yxrk gSA nwjh Kkr
dhft,\

Then distance/nwjh = 
 
  

xy
×t

x +y

17. A boy goes to school at 3 km/hr and return
at a speed of 2 km/hr. If he takes 5 hours in
all find the distance from his village to school.

,d yM+dk 3 fdeh@?kaVk dh xfr ls Ldwy tkrk gS vkSj 2
fdeh@?kaVk dh xfr ls okil vkrk gSA ;fn og dqy feykdj
5 ?kaVs ysrk gS rks mlds xk¡o ls Ldwy dh nwjh Kkr dhft,A
(a) 5 km

(b) 6 km

(c) 7 km

(d) 8 km

18. A student goes to school at a speed of 
1

5
2

 km/

h and returns at a speed of 4 km/h. If he takes

3
4

4
 hours for the entire journey, then the total

distance covered by the student (in km) is:
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,d Nk=k 
1

5
2

 fdeh@?kaVk dh xfr ls Ldwy tkrk gS vkSj

4 fdeh@?kaVk dh xfr ls okil vkrk gSA ;fn og iwjh ;k=kk esa
3

4
4
 ?kaVs ysrk gS] rks Nk=k }kjk r; dh xbZ dqy nwjh (fdeh

esa) gS%
SSC CGL MAINS 29/01/2022

(a) 11 (b) 22

(c) 16 (d) 24

A man go a certain distance with x km/hr and

he comes back with a speed of y km/hr. If he

takes t hours more to come back than go. Find

the distance.

,d vkneh x fdeh@?kaVk ds lkFk ,d fuf'pr nwjh r;
djrk gS vkSj og y fdeh@?kaVk dh xfr ls okil vkrk gSA
;fn og tkus ls okil vkus esa t ?kaVs vf/d ysrk gSA nwjh
dk irk yxk,aA
Then distance/nwjh

    = 
y

– y

 
 
 
 

x

x
 × (difference between time)

 The difference between time can be solved by

the following tricks

le; ds varj dks fuEufyf•r rjdhcksa ls gy fd;k tk
ldrk gS

Same important cases in speed

Early, early case '–' (subtraction)
Late, Late case '–' (subtraction)
Early, Late case '+' (Addition)

Late, Early case '+' (Addition)
19. A man when goes to his office at the rate of

24 km/hr, reaches 10 mins late and when he

goes by 30 km/hr, he reaches 20 mins early.
Find distance of the office?

,d O;fDr tc vius vkWfiQl 24 fdeh@?kaVs dh pky ls
tkrk gS rks og 10 feuV nsjh ls igq¡prk gS vkSj tc 30
fdeh@?kaVs dh pky ls tkrk gS rks og 20 feuV igys
vkWfiQl igq¡p tkrk gSA vkWfiQl dh nwjh Kkr dhft,A
(a) 60 km (b) 55 km
(c) 50 km (d) 65 km

20. Ramesh drives from his home at a speed of 40

km/h and reaches his college 25 minutes late.

The next day he increases his speed by 10

km/h, yet he is late by 10 minutes. How far

is his college from his home?

jes'k vius ?kj ls 40 km/h dh pky ls xkM+h pykrk
gS vkSj 25 feuV nsjh ls vius dkWyst igqprk gSA vxys
fnu og viuh xkM+h dh pky 10 km/h c<+k nsrk gS]

fiQj Hkh dkWyst igq¡pus esa mls 10 feuV dh nsjh gks
tkrh gSA mldk dkWyst mlds ?kj ls fdruh nwj gS\

SSC CHSL 24/05/2022 (Shift-01)

(a) 50 km (b) 55 km

(c) 45 km (d) 60 km

21. If Raman drives his bike at a speed of 24 km/

h, he reaches his office 5 minutes late. If he

drives at a speed of 30 km/h, he reaches his

office 4 minutes early. How much time (in

minutes) will he take to reach his office at a

speed of 27 km/h?

;fn jeu viuh ckbd 24km/h dh pky ls pykrk gS]
rks og vius dk;kZy; esa 5 feuV dh nsjh ls igqaprk gSA
;fn og 30km/h dh pky ls ckbd pykrk gSA rks vius

dk;kZy; 4 feuV igys igqap tkrk gSA og 27km/h dh
pky ls vius dk;kZy; rd igq¡pus esa fdruk le; (feuVksa
esa) ysxk\

SSC CGL 20/04/2022 (Shift-02)

(a) 40 (b) 55

(c) 50 (d) 45

22. A boy when goes to his school by 12 km/hr
speed, reaches 20 mins late and when he
covers the distance by 16 km/hr, reaches 5
mins late. Find speed by which he may reach
on time and also find distance of his school.

,d yM+dk tc 12 fdeh@?kaVs dh pky ls vius Ldwy tkrk
gS rks og 20 feuV dh nwjh ls igq¡prk gS vkSj tc og ;gh
nwjh 16 fdeh@?kaVs dh pky ls r; djrk gS rks 5 feuV dh
nsjh ls igq¡prk gSA og pky Kkr dhft, ftlls og lgh
le; ij Ldwy igq¡ps vkSj Ldwy dh nwjh Hkh Kkr dhft,A
(a) 16 km/hr, 12 km (b) 18 km/hr, 12 km

(c) 20 km/hr, 10 km (d) 15 km/hr, 10 km

TYPE-03
In this variety, changes in speed are given and

accordingly changes in time are also given.

bl izdkj ds iz'uksa esa pky esa ifjorZu fn;k gksrk gS vkSj mlds
vuqlkj le; esa ifjorZu Hkh fn;k gksrk gSA

23. When a person decreases its speed by 6 km/

h, reaches his destination 20 minutes late

while when he decreases its speed by 2 km/

h, he reaches 5 minutes late. Find actual speed

of the person?

tc ,d O;fDr vius pky esa 6 fdeh@?kaVs dh deh djrk
gS rks og vius xarO; LFkku ij 20 feuV dh nsjh ls igq¡prk
gS ijarq tc og viuh pky esa 2 fdeh@?kaVk dh deh dj
nsrk gS rks og 5 feuV dh nsjh ls igq¡prk gSA O;fDr dh
OkkLrfod pky Kkr dhft,A

(a) 16 km/hr (b) 18 km/hr

(c) 17 km/hr (d) 20 km/hr
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24. Annu covers certain distance with her own

speed, but when she reduces her speed by 10

km/hr, her time duration for the journey

increases by 40 hr, but when she increases her

original speed by 15 km/hr time taken by her

is 10 hours less than the original time. Find the

distance covered by her.

vuq ,d fuf'pr nwjh viuh ,d fu;r pky ls r; djrh
gS ijarq tc og viuh pky 10 fdeh@?kaVk de djrh gS
rks ;k=kk ds fy, mldh le; vof/ 40 ?kaVs c<+ tkrh gSA
ijarq tc og viuh ewy pky esa 15 fdeh@?kaVs dh o`f¼
djrh gS rks mlds }kjk fy;k x;k le; ewy le; ls 10
?kaVs de gksrk gSA mlds }kjk r; dh xbZ nwjh Kkr dhft,A

(a) 300 km/hr (b) 280 km/hr

(c) 320 km/hr (d) 350 km/hr

25. If speed of a train increases by 10 km/hour

then time taken to reach destination decreases

by 1 hour. If speed increases by 10 km/hr

further, time again reduces by 45 minutes. Find

distance covered by the train.

;fn fdlh jsyxkM+h dh pky esa 10 fdeh@?kaVs dh o`f¼
gksrh gS rks xarO; LFkku rd igq¡pus esa mlds }kjk fy;s x,
le; esa 1 ?kaVs dh deh vk tkrh gSA ;fn pky esa 10
fdeh@?kaVs vkSj òf¼ gksrh gS rks fy;s x;s le; esa 45 feuV
dh deh vkrh gSA jsyxkM+h }kjk r; dh xbZ nwjh Kkr dhft,A

(a) 420 km (b) 430 km

(c) 410 km (d) 425 km

26. A train covers a certain distance at a certain
speed, if the speed of the train is 6km/hr more,
then to cover the same distance it takes 6
hours less. But, if the speed of the train is 6
km/hr less then it would take 10 hrs more to
cover the same distance. Find the distance
covered by the train.

dksbZ jsyxkM+h fdlh fuf'pr pky ls ,d fuf'pr nwjh r;
djrh gS] ;fn jsyxkM+h dh pky 6 fd-eh@?kaVk vf/d gksrh]
rks mlh nwjh dks r; djus ds fy, 6 ?kaVs de yxrsA ysfdu]
;fn jsyxkM+h dh pky 6 fd-eh@?kaVk de gksrh] rks leku
nwjh r; djus esa 10 ?kaVs vf/d yxrsA jsyxkM+h }kjk r;
dh xbZ nwjh Kkr dhft,A
(a) 640 km (b) 720 km/h

(c) 540 km/h (d) 680 km/h

27. A car travels from P to Q at a constant speed.

If its speed were increased by 10 km/h, it

would have been taken one hour lesser to

cover the distance. It would have taken 45

minute lesser if its speed was further increased

by 10 km/h. The distance between P and Q is

,d dkj P ls Q rd ,d fLFkj pky ls ;k=kk djrh gSA
;fn bldh pky 10 fd-eh@?kaVk c<+k nh tkrh] rks leku
nwjh dks r; djus esa mls ,d ?kaVk de le; yxrkA ;fn
bldh pky 10 fd-eh@?kaVk vkSj c<+k nh tkrh rks ;g 45
feuV vkSj de le; ysrhA P vkSj Q ds chp dh nwjh Kkr
dhft,A
(a) 540 km (b) 420 km

(c) 600 km (d) 620 km

TYPE-04
28. Vikash went to city from his village which is

48 km far by two mode of communi-cation. He
covered some part of distance by cycle and
rest part by bus. Average speed of cycle is 16
km/h while that of bus is 40 km/h and he
covered total distance in 2 hrs. Find distance
covered by him going by cycle.

fodkl vius xk¡o ls 48 fdeh nwj fLFkr 'kgj ;krk;kr ds
nks ekè;eksa ls tkrk gSA og dqy nwjh dk dqN Hkkx lkbZfdy
ls vkSj 'ks"k cl ls r; djrk gSA lkbZfdy dh vkSlr pky
16 fdeh@?kaVk tcfd cl dh 40 fdeh@?kaVk gS vkSj og
laiw.kZ nwjh 2 ?kaVs esa r; djrk gSA mlds }kjk lkbZfdy ls
r; dh xbZ nwjh Kkr dhft,A

(a)
1

20
3

 km

(b)
1

21
3

 km

(c)
1

24
3

 km

(d)
1

25
3

 km

29. A person goes to Jaipur from Delhi which is 240
km far. He covers some part of distance by bus
and rest part by train. Time taken by him to
cover complete distance is 6 hours. Average
speed of bus is 30 km/h and that of train is
55 km/h. Find distance covered by the person
going by train.

,d O;fDr fnYyh ls 240 fdeh nwj fLFkr t;iqj tkrk gSA
og ;k=kk dh dqN nwjh cl ls vkSj 'ks"k Hkkx jsyxkM+h ls r;
djrk gSA mls dqy nwjh r; djus esa 6 ?kaVs dk le; yxrk
gSA cl dh vkSlr pky 30 fdeh@?kaVk vkSj jsyxkM+h dh
pky 55 fdeh@?kaVk gSA O;fDr }kjk jsyxkM+h ls r; dh xbZ
nwjh Kkr dhft,A
(a) 100 km

(b) 105 km

(c) 110 km

(d) 108 km
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TYPE-05 (AVERAGE SPEED)

Average speed = 
Total covered distance

Total taken time

vkSlr pky = 
dyq  r; dh xb Z njw h
dyq  fy;k x;k le;

Cases for Average Speed

vkSlr pky dh fLFkfr;k¡
1. When distance is constant

tc nwjh fu;r gks
2. When time is constant

tc le; fu;r gks

Case-I/fLFkfr&I
When distance is constant

tc nwjh fu;r gks

A B C

D

S1 S2

t
1
 = 

1

D

S t
2
 = 

2

D

S

Average speed/vkSlr pky =

 
  

1 2

1 2

1 2 1 2

2S SD + D 2D
= =

D D S + S1 1+ D +
S S S S

From above explanation, it is clear that when
distance is constant, average speed is free from
distance. It means three is no need of distance or
question can be solved through any supposed
distance.

mi;qZDr fooj.k ls ;g Li"V gS fd tc nwjh fu;r gks rks vkSlr pky
nwjh ls Lora=k gksrh gSA vFkkZr~ nwjh dh dksbZ vko';drk ugha gksrh gS
vFkok iz'u dks gy djus ds fy, nwjh dks dqN eku fy;k tkrk gSA
30. A car covers a certain distance travelling at

a speed of 60 km/h and returns to the starting

point at a speed of 40 km/h. The average

speed of the car for the entire journey is:

,d dkj 60 km/h dh xfr ls pyrs gq, ,d fuf'pr
nwjh r; djrh gS vkSj 40 km/h dh xfr ls izkjafHkd
fcnq ij okil ykSVrh gSA iwjh ;k=kk ds fy, dkj dh vkSlr
xfr D;k gS\

SSC CHSL 27/05/2022 (Shift-03)

(a) 20 km/h (b) 48 km/h

(c) 120 km/h (d) 50 km/h

31. A person covers a certain distance by bus at

45 km/h and immediately returns to the

starting point by car at a speed of 80 km/h.

What is his average speed during the whole

journey?

,d O;fDr fdlh fuf'pr nwjh dks cl }kjk 45 km/h

dh pky ls r; djrk gS vkSj rqjar dkj }kjk 80 km/h

dh pky ls izkjafHkd fcUnq ij okil vkrk gSA iwjh ;k=kk
ds nkSjku mldh vkSlr pky fdruh gS\

SSC CGL 09/12/2022 (Shift- 03)

(a) 57.6 km/h (b) 63.2 km/h

(c) 73.5 km/h (d) 45.5 km/h
32. Ruksana travelled at 60 km/h while going

from point A to point B, and returned via the
same route at a different speed. If Ruksana’s
overall average speed during the two-way
journey was 48 km/h, what was her speed

while travelling from B to A?

#dlkuk us LFkku A ls LFkku B rd tkus esa 60 km/h

dh pky ls ;k=kk dh] vkSj ,d fHkUu pky ds lkFk mlh
ekxZ ls okil ykSVhA ;fn bl nksrjiQk ;k=kk ds nkSjku
#dlkuk dh dqy vkSlr pky 48 km/h Fkh] rks LFkku
B ds LFkku A dh vksj ;k=kk djrs le; mldh vkSlr
pky D;k Fkh\

SSC CHSL 02/06/2022 (Shift-02)

(a) 42 km/ (b) 40 km/h

(c) 45 km/h (d) 36 km/h

Case-II/fLFkfr&II
When time is constant

tc le; fu;r gks
S1

t t

S2

D
1
 = S

1
 × t D

2
 = S

2
 × t

Average speed/vkSlr pky =
)
1 2 1 2 1 2 1 2D + D S + S (S + S S + S

= =
+ + 2 2

t  t t

t t t t t

When time is constant, average speed is free from
time. It means when time is constant

tc le; fu;r gks] rks vkSlr pky le; ls Lora=k gksrh gSA vFkkZr
tc le; fu;r gks
Average speed/ vkSlr pky =

Sum of the speed

Number of speeds /observations

pkyksa dk ;kxs
pkyka@s  i;oZ s{k.kksa dh l[a ;k

33. A man travel from A to B at a speed of 29 km/
hr in 29 minutes and he travel from B to C
with a speed of 39 km/hr in 29 minutes. Find
the average speed of the whole journey?

,d vkneh 29 feuV esa 29 fdeh@?kaVk dh xfr ls A ls
B dh ;k=kk djrk gS vkSj og 29 feuV esa 39 fdeh@?kaVk
dh xfr ls B ls C dh ;k=kk djrk gSA iwjh ;k=kk dh vkSlr
xfr Kkr dhft;s\
(a) 34 km/hr (b) 35 km/hr

(c) 36 km/hr (d) 37 km/hr
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Time, Distance and Speed

34. A car travels with a speed of 21 m/sec in the

first 10 minutes, 9.0 km in the next

10minutes and 10 km in the last 10 minutes

of its journey. What is the average speed ofthe

car in km/h during its entire journey?

,d dkj viuh ;k=kk ds igys 10 feuV eas 21 m/sec

dh pky ls pyrh gS] vxys 10 feVu esa 9-0 km vkSj
vafre 10 feuV eas 10 km dh ;k=kk djrh gSA viuh iwjh
;k=kk ds nkSjku dkj dh vkSlr pky km/h eas D;k gS\

SSC CPO 10/11/2022 (Shift- 01)

(a) 60.0 km/h (b) 63.2 km/h

(c) 62.0 km/h (d) 65.3 km/h

35. John drives 250 km at 50 km/h and then he

drives 350km at 70km/h. Find his average speed

for the whole journey in km/h.

tkWu 250 km dh nwjh 50 km/h dh pky ls xkM+h
pykdj r; djrk gS vkSj fiQj og 350 km dh nwjh
70 km/h dh pky ls xkM+h pykdj r; djrk gSA iwjh
;k=kk ds nkSjku mldh vkSlr pky ( km/h esa) Kkr dhft,A

SSC CGL 08/12/2022 (Shift- 02)

(a) 55 km/h (b) 60 km/h

(c) 58 km/h (d) 65 km/h

36. Prasad goes 96 kilometres on a bike at a speed

of 16 km/h, 124 kilometres at 31 km/h in a

car, and 105 kilometres at 7 km/h in a horse

cart. Find his average speed for the entire

distance travelled.

izlkn ,d ckbd ij 16 km/h dh pky ls 96 fdyksehVj
dk eas 31 km/h dh pky ls 124 fdyksehVj vkSj
?kksM+k xkM+h eas 7 km/h dh pky ls 105 fdyksehVj
tkrk gSA r; dh xbZ iwjh nwjh ds fy, mldh vkSlr
pky Kkr dhft,A

SSC CGL 05/12/2022 (Shift- 04)

(a) 16 km/h (b) 13 km/h

(c) 17 km/h (d) 11 km/h

37. A person travels in a car at 40 km/h for 3

hours, on a bike at 30 km/h for 2 hours, and

in a train at 80 km/h for 5 hours. What is

the average speed at which he travelled?

,d O;fDr dkj eas 40 km/h dh pky ls 3 ?kaVs] ckbd

ij 30 km/h dh pky ls 2 ?kaVs vkSj Vªsu esa 80

km/h dh pky ls 5 ?kaVs ;k=kk djrk gSA mlds }kjk

fdl vkSlr pky ls ;k=kk dh xbZ\

SSC CGL 09/12/2022 (Shift- 02)

(a) 56 km/h (b) 60 km/h

(c) 62 km/h (d) 58 km/h

38. A man travels for 4 hours at a speed of 75

km/h, for next 6 hours at a speed of 65.5 km/

h and for next 2 hours at a speed of 54 km/

h. What is his average speed (in km/h) for the

entire journey?

,d vkneh 75 km/h dh pky ls 4 ?kaVs] 65.5 km/

h dh pky ls 6 ?kaVs vkSj 54 km/h dh pky nks ?kaVs

ls ;k=kk djrk gSA iwjh ;k=kk esa mldh vkSlr pky (km/

h esa) D;k gS\

ICAR Assistant 29/07/2022 (Shift- 02)

(a)
3

64
4

(b)
2

64
3

(c)
3

66
4

(d)
1

65
3

39. Two-thirds of a certain distance was covered

at the speed of 45 km/h, one-fourth at the

speed of 60 km/h and the rest at the speed

of 75 km/h. Find the average speed per hour

for the whole journey. (correct to 2 decimal

places)

fdlh fuf'pr nwjh dk nks&frgkbZ Hkkx 45 km/h dh

pky ls] ,d&pkSFkkbZ Hkkx 60 km/h dh pky ls vkSj

'ks"k Hkkx 75 km/h dh pky ls r; fd;k x;k A iwjh

;k=kk ds fy, vkSlr pky izfr ?kaVk (nks n'keyo LFkku

rd lgh) Kkr dhft,A

SSC CGL 01/12/2022 (Shift- 04)

(a) 51.25 km/h (b) 45.75 km/h

(c) 58.25 km/h (d) 49.77 km/h

40. Vikas covered a certain distance by bike. If

he covers 40% of the distance at 40 km/h,

50% of the distance at 25 km/h and the

remaining 10% distance at 10 km/h. Find his

average speed over the whole distance.

fodkl us ,d fuf'pr nwjh ckbd ls r; dhA ;fn og

40» dks 40 km/h dh pky ls] 50» nwjh 25 km/h

dh pky ls vksj 'ks"k 10» dh nwjh 10 km/h dh pky

ls r; djrk gS] rks iwjh nwjh r; djus eas mldh vkSlr

pky Kkr dhft,A

SSC CGL 03/12/2022 (Shift- 02)

(a) 25 km/h (b) 28 km/h

(c) 26 km/h (d) 30 km/h
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41. In a journey of three unequal laps, a car covers

a distance of 200 km in 4 h in the first lap,

while another 162 km at the speed of 15 m/

s in the second lap. It covered the remaining

distance of the final lap in 4 h such that the

average speed of the car for entire journey

was 50 km/h. What was the speed of the car

in the third lap of the journey?

rhu vleku Hkkxksa dh ;k=kk esa] ,d dkj igys Hkkx dh

200 fdeh dh nwjh 4 ?kaVs esa r; djrh gS] tcfd nwljs

Hkkx dh 162 fdeh dh nwjh] 15 eh@ls- dh pky ls r;

djrh gSA blus vafre Hkkx dh 'ks"k nwjh dks 4 ?kaVs esa bl

çdkj r; dj nh fd iwjh ;k=kk ds fy, dkj dh vkSlr

pky 50 fdeh@?kaVk gks xbZA ;k=kk ds rhljs Hkkx esa dkj dh

pky D;k Fkh\

SSC CPO 10/11/2022 (Shift-02)

(a) 47 km/h (b) 52 km/h

(c) 42 km/h (d) 45 km/h

42. The ratio of the distance between two places

A and B to the distance between places B and

C is 3 : 5. A man travels from A to B at a speed

of x km/h and from B to C at a speed of 50

km/h. If his average speed for the entire

journey is 40 km/h, then what is the value of

(x – 10) : (x + 1)?

LFkkuksa A vkSj B ds chp dh nwjh dk LFkkuksa B vkSj C ds
chp dh nwjh ls vuqikr 3 % 5 gSA ,d O;fDr A ls B rd]
x fdeh@?kaVk dh pky ls vkSj B ls C rd 50 fdeh@?kaVk
dh pky ls ;k=kk djrk gSA ;fn iwjh ;k=kk ds fy, mldh
vkSlr pky 40 fdeh@?kaVk gS] rks (x –10) : (x + 1) dk
eku D;k gksxk\

SSC CGL MAINS 29 Jan 2022

(a) 20 : 31 (b) 31 : 20

(c) 11 : 10 (d) 10 : 11

TYPE-6
Question based on Average Speed with Stoppage

Bgjko ds lkFk vkSlr pky ij vk/kfjr iz'u
When stoppage time is taken into consideration while
calculating average speed, it is said average speed
with stoppage.

tc vkSlr pky dh x.kuk djrs gq, Bgjko ds le; dks Hkh 'kkfey
djrs gSa rks bls Bgjko ds lkFk vkSlr pky ds dgrs gSaA
43. Without any stoppage, speed of the bus is 54

km/hr and with stoppage its speed is 45 km/
hr. The bus stops for how many minutes per
hour?

fcuk fdlh Bgjko ds] cl dh pky 54 fd-eh@?kaVk gS
vkSj Bgjko ds lkFk bldh pky 45 fd-eh@?kaVk gSA cl
çfr ?kaVk fdrus feuV ds fy, #drh gS\

(a) 9 (b) 10

(c) 12 (d) 20

44. The speed of a bus without stoppages is 40

km/h and with stoppages is 32 km/h. How

many minutes per hour does the bus stop?

,d cl dh pky fcuk Bgjko ds 40 fdeh@?kaVk rFkk
Bgjko  ds lkFk pky 32 fdeh@?kaVk gS cl izR;sd ?kaVs
esa fdrus feuV ds fy, Bgjrh gS\

SSC MTS (Shift- II) 08/10/2021

(a) 18 (b) 15

(c) 12 (d) 16

45. Speed of a car without stoppage is 48 km/h and
that of with stoppage is 36 km/h. If car stops
each time for 5 min then find the number of
stoppage in 1 hr 20 min.

,d dkj dh fcuk Bgjko ds pky 48 fdeh@?kaVk vkSj
Bgjko ds lkFk 36 fdeh@?kaVk gSA ;fn dkj izR;sd ckj 5
feuV ds fy, :drh gS rks 1 ?kaVs 20 feuV esa Bgjko dh
la[;k Kkr dhft,A

(a) 3 times (b) 4 times

(c) 5 times (d) 6 times

46. Speed of a train without stoppage is 80 km/
hr and that at with stoppage is 70 km/hr. If
stoppage time is 3 min then find the number
of stoppage in 2 hrs.

,d jsyxkM+h dh fcuk Bgjko ds pky 80 fdeh@?kaVk vkSj
Bgjko ds lkFk 70 fdeh@?kaVk gSA ;fn jsyxkM+h izR;sd ckj
3 feuV ds fy, :drh gS rks 2 ?kaVs esa Bgjko dh la[;k
Kkr dhft,A

(a) 5 times (b) 6 times

(c) 8 times (d) 4 times

47. A train left Delhi station and reached Mumbai
station which is 1600 km far. Average speed
of the train without stoppage is 100 km/h and
there is stoppage of 10 min in every 100 km
then find total number of stoppages and
average speed of with stoppage.

,d jsyxkM+h fnYyh LVs'ku ls 1600 fdeh nwj fLFkr eqEcbZ
LVs'ku igq¡prh gSA jsyxkM+h dh fcuk Bgjko ds vkSlr pky
100 fdeh@?kaVk gSA ;fn izR;sd 100 fdeh ij 10 feuV
dk Bgjko gks rks dqy Bgjko dh la[;k vkSj Bgjko ds
lkFk vkSlr pky Kkr dhft,A
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(a) 15, 
3

91
7

 km/h (b) 18, 
2

94
17

 km/h

(c) 15, 
3

94
17

 km/h (d) 16, 
2

94
17

 km/h

TYPE-7

A BP

D1 D2

Here,

S
1
  Speed of train starting from A

(A ls 'kq: gksus okys Vªsu dh xfr)

S
2
  Speed of train starting from B

(B ls 'kq: gksus okys Vªsu dh xfr)
T  Time after which they meet each other.

(le; ftlds ckn os ,d&nwljs ls feyrh gS)
T

1
  Time taken by the train 1 to reach at its

destination after crossing each other.

(Vªsu 1 }kjk ,d&nwljs dks ikj djus ds ckn vius xarO; rd igq¡pus
esa fy;k x;k le;)
T

2
  Time taken by the train 2 to reach at its

destination after crossing each other.

(Vªsu 2 }kjk ,d&nwljs dks ikj djus ds ckn vius xarO; rd igq¡pus
esa fy;k x;k le;)
D   Total distance form A to B.

(A ls B rd dh dqy nwjh)
On this concept three types of questions are asked
in the exams and they are based on the given formula
below :

bl vo/kj.kk ij ijh{kk esa rhu izdkj ds iz'u iwNs tkrs gSa tks uhps
fn;s x;s lw=kksa ij vk/kfjr gksrs gSaA

(a) T = 1 2T T

(b)  
21

2 1

TS
=

S T

(c) D = S
1
T

1
 + S

2
T

2

48. Shyam starts to walk from A towards B at 10
a.m. and Radha starts to walk from B towards
A at 10 a.m. and after meeting at C they both
reach their destination in 24 and 54 minutes
respectively. Find out the time they meet at
C.

';ke A ls B dh vksj 10 cts pyuk 'kq: gksrk gS vkSj
jk/k B ls A dh vksj lqcg 10 cts pyuk 'kq: djrh gS
vkSj C ij feyus ds ckn os nksuksa Øe'k% 24 vkSj 54

feuV esa vius xarO; rd igq¡prh gSaA C ij feyus dk le;
Kkr dhft,A
(a) 10 : 30 a.m. (b) 10 : 36 a.m.

(c) 11 : 00 a.m. (d) 10 : 25 a.m.

49. A and B started their journeys from X to Y

and Y to X, respectively. After crossing each

other, A and B completed remaining parts of

their journeys in 6
1

8
 hours and 8 hours,

respectively. If the speed of A is 32 km/h, then

the speed, in km/h, of B is:

A vkSj B us Øe'k% X ls Y vkSj Y ls X ds s fy,
viuh ;k=kk 'k q: dhA ,d&nwljs dks ikj djsu ds
ckn] A vkSj B us viuh ;k=kk ds 'ks"k HkkXk dks Øe'k%

1
6

8
 ?k aVs vkSj 8 ?k aVs es a iwjk fd;kA ;fn A dh pky

32 km/h gS] rks B dh pky km/h es a Kke dhft,A
SSC CGL 12/04/2022 (Shift- 02)

(a) 21 (b) 28

(c) 30 (d) 25

50. Suman travels from place X to Y and Rekha

travels from Y to X, simultaneously. After

meeting on the way. Suman and Rekha reach

Y and X, in 3 hours 12 minutes and 1 hour 48

minutes, respectively. If the speed of Rekha is

9 km/h. then the speed (in km/h) of Suman is:

,d gh le; ij lqeu LFkku X ls Y ds fy, pyrh gS
vkSj js[kk LFkku Y ls X ds fy, pyrh gSA jkLrs esa feyus
ds ckn] lqeu vkSj js[kk LFkku Y vkSj X ij Øe'k% 3
?kaVk 12 feuV vkSj ,d ?kaVk 48 feuV esa igqaprh gSA
;fn js[kk dh pky 9 fdeh@?kaVk gS] rks lqeu dh pky
(fdeh@?kaVk esa) Kkr djsaA

SSC CGL 18/08/2021 (Shift- 02)

(a)
1

7
2

(b) 6

(c) 8 (d)
3

6
4

51. Radha walks with the speed of 40 km/h from

A to meet Shyam and Shyam Walks towards

her from B. After meeting each other at C they

reach at each other's home in 9 hours and 16

hours respectively. Find the distance between

A and B and speed of Shyam.

jk/k] ';ke ls feyus ds fy, A ls 40 fdeh@?kaVk dh xfr
ls pyrh gS vkSj ';ke B ls mldh vksj c<+rk gSA C esa
,d&nwljs ds feyus ds ckn os Øe'k% 9 ?kaVs vkSj 16 ?kaVs
esa ,d&nwljs ds ?kj igq¡prs gSaA ';ke dh xfr vkSj A vkSj
B ds chp dh nwjh Kkr dhft,A
(a) 1120 km, 40 km/hr

(b) 1120 km, 30 km/hr

(c) 840 km, 30 km/hr

(d) 840 km, 40 km/hr
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52. A and B start walking towards each-other at 9

: 00 a.m. from Jaipur and Kanpur respectively.

Speed of A and B are 70 km/hr and 90 km/hr

respectively. They meet at Delhi at a certain

time and have lunch together. At 10 : 39 a.m.

They again start walking towards their

destination. If a reached at Kanpur on 12 : 27

p.m., how much time they spent together to do

lunch?

A vkSj B lqcg 9 cts Øe'k% t;iqj vkSj dkuiqj ls

,d&nwljs dh vksj pyuk vkjaHk djrs gSaA A vkSj B dh

pky Øe'k% 70 fdeh@?kaVk vkSj 90 fdeh@?kaVk gSA jkLrs

esa fdlh le; fnYyh esa ;s nksuksa vkil esa feyrs gSa vkSj

dqN le; os nksuksa ,d lkFk nksigj dk Hkkstu djrs gSa rFkk

10 ctdj 39 feuV ij os nksuksa fiQj vius xarO; LFkkuksa

dh vksj pyuk 'kq: djrs gSaA ;fn A dkuiqj 12 ctdj

27 feuV ij igq¡p tkrk gS] rks nksuksa us fdruk le; ,d

lkFk Hkkstu ij fcrk;k\

(a) 16 min (b) 12 min

(c) 15 min (d) 20 min

TYPE-8

53. I walk a certain distance and ride back taking

a total time of 37 minutes. I could walk both

ways in 55 minutes. How long would it take

me to ride both ways?

eq>s ,d fuf'pr nwjh iSny tkus vkSj ckbd ls okil vkus

esa dqy 37 feuV dk le; yxrk gSA eq>s nksuksa rjiQ iSny

tkus vkSj vkus esa 55 feuV yxrs gSaA eq>s nksuksa rjiQ ckbd

ls tkus vkSj okil vkus esa fdruk le; yxsxk\

(a) 9.5 m (b) 19 min

(c) 18 min (d) 20 min

54. A man walks a certain distance by foot and rides

back on horse in 4 hr. 30 min. He could ride on

horse both ways in 3hrs. The time required by

the man to walk by foot both ways is :

fdlh O;fÙkQ dks ,d fuf'pr nwjh iSny tkus vkSj ?kksM+s ls

okfil vkus esa dqy 4 ?kaVs 30 feuV yxrs gSA nksuksa rjiQ dh

nwjh ?kksM+s ls og 3 ?kaVs esa r; dj ldrk gSA nksuksa rjiQ dh

nwjh dks iSny pyus esa yxus okyk vko';d le; Kkr djsa%

(a) 4 hrs 30 min (b) 4 hrs 45 min

(c) 5 hrs (d) 6 hrs

TYPE-9 (Relative Speed)

10 m/s 5 m/s 25 m/s

A B C

2800 m

If all of them meet at the same time, find the location

of that point with respect to A?

;fn os lHkh ,d gh le; ij feyrs gSa rks A ds lanHkZ esa ml fcUnq

dh LFkku Kkr dhft,\

55. A thief was noticed by a policeman from a

distance of 80 metres. The speed of the thief

is 21 km/h and the policeman is 20 km/h.

What is the distance between them after 18

seconds?

,d iqfyldehZ us pksj dks 80 ehVj dh nwjh ls ns[kkA

pksj dh pky 21 km/h gS vkSj iqfyldehZ dh pky

20 km/h gSA 18 lsd.M ds ckn muds chp dh nwjh

D;k gksxh\

SSC Phase X 01/08/2022 (Shift- 03)

(a) 70 metres (b) 95 metres

(c) 90 metres (d) 85 metres

56. A thief is noticed by a policeman from a

distance of 97 m. The thief starts running and

the policeman chases him. The thief and the

policeman run at a speed of 21 m/sec and

23 m/sec respectively. What is the time taken

by the policeman to catch the thief?

,d iqfyldehZ dks 97 m dh nwjh ls ,d pksj fn[kkbZ

nsrk gSA pksj Hkkxus yxrk gS vkSj iqfyldehZ mldk ihNk

djrk gSA pksj vkSj iqfyldehZ Øe'k% 21 m/sec vkSj

23 m/sec dh pky ls nkSM+rs gSaA pksj idM+us eas iqfyldehZ

dks fdruk le; yxrk gS\

SSC CGL 02/12/2022 (Shift- 01)

(a) 40 sec (b) 45 sec

(c) 62.5 sec (d) 48.5 sec

57. A policeman sees a thief at a distance of 150

m. He starts chasing the thief who isrunning

at a speed of 5 m/sec, while the policeman

chases with a speed of7m/sec.Find the

distance covered by the thief when he is

caught by the policeman.
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,d iqfyldehZ 150 m dh nwjh ij ,d pkjs dks ns[krk
gSA og 5 m/sec, dh pky ls Hkkx jgs pkjs dk ihNk
djuk vkjaHk djrk gS] tcfd iqfyldehZ 7 m/sec.

dh pky ls ihNk djrk gSA iqfyldehZ }kjk idM+s tkus
ds le; rd pksj }kjk r; dh xbZ nwjh Kkr dhft,A

SSC CPO 09/11/2022 (Shift- 02)

(a) 285 m (b) 325 m

(c) 375 m (d) 295 m

58. A thief stole jewellery from a shop at 8:15
p.m. and left on a bike at a speed of 60 km/
h. The police were informed at 8:30 p.m. If
the police want to arrest the thief at 9:00 p.m.,
what should be the minimum speed of the
police jeep?

,d pksj us ,d nqdku ls 8:15 p.m. ij tsoj pqjk,
vkSj 60 km/h dh py ij ckbd ls Hkkx x;kA iqfyl
dks 8:30 p.m. cts lwpuk nh xbZA ;fn iqfyl pksj dks
9:00 p.m. cts fxjÝrkj djuk pkgrh gS] rks iqfyl thi
dh U;wure pky fdruh gksuh pkfg,\

SSC CGL 08/12/2022 (Shift- 04)

(a) 60 km/h (b) 75 km/h

(c) 80 km/h (d) 90 km/h

59. A thief running at speed of ‘x’ km/h is chased
by a policeman running at a speed of 10 km/
h. If the thief is ahead by 100 metres, the
policeman catches the thief after 3 minutes.
At what speed is the thief running (‘x’ being
the unknown speed)?

'x' km/h dh pky ls nkSM+ jgs ,d pksj dk ihNk] 10

km/h dh pky ls nkSM+ jgs ,d iqfyldehZ }kjk fd;k
tkrk gSA ;fn pksj 100 ehVj vkxs gS] rks iqfyldehZ 3
feuV ds ckn pksj dks idM+ ysrk gSA rks crkb, fd
pksj fdl pky ls Hkkx jgk gS ('x' vKkr pky gSA)\

SSC CGL 09/12/2022 (Shift- 03)

(a) 4 km/h (b) 8 km/h

(c) 10 km/h (d) 6 km/h

60. Two cities A and B are 135 km apart on a

straight track. One car starts from A at 8 a.m.

and travels towards B at 25 km/h. Another

car starts from B at 9 a.m. and travels

towards A at a speed of 30 km/h. At what

time will they meet?

nks 'kgj A vkSj B ls lh/s jkLrs ij 135 km dh nwjh

ij gSaA ,d dkj A ls 8 a.m. ij pyuk 'kq: djrh gS

vkSj B dh vksj 25 km/h dh pky ls pyrh gSA ,d

vU; dkj 9 a.m. ij B ls pyuk 'kq: djrh gS vkSj

A dh vksj 30 km/h dh pky ls pyrh gS os fdl

le; feysaxh\
SSC CGL 09/12/2022 (Shift- 01)

(a) 11 a.m. (b) 10 a.m.

(c) 10:45 a.m. (d) 11:30 a.m.

61. Two stations are 120 km apart on a straight

line. A train starts from station A at 8 a.m.and

moves towards station B at 20 km/h, and

another train starts from station B at 9a.m.

and travels towards station A at a speed of

30 km/h. At what time will they meet?

nks LVs'ku ,d lh/h js[kk esa 120 km dh nwjh ij gSaA
,d Vsªu LVs'ku A ls lqcg 8 a.m. ij pyuk 'kq:
djrh gS vkSj LVs'ku B dh vksj 20 km/h dh pky ls
pyrh gS] vkSj nwljh Vªsu LVs'ku B ls lqcg 9 a.m. ij
pyuk 'kq: djrh gS vkSj LVs'ku A dh vksj 30 km/h

dh pky ls pyrh gSA os fdl le; feysaxh\

SSC CPO 10/11/2022 (Shift- 01)

(a) 10:30 a.m. (b) 10:00 a.m.

(c) 11:00 a.m. (d) 11:30 a.m.

62. Two trains leave Agra for Calcutta at 9:00 a.m.

and 9:30 a.m., respectively, and travel at 240

km/h and 300 km/h, respectively. How many

kilometres from Agra will the two trains meet?

nks Vsªus a vkxjk ls dksydkrk ds fy, Øe'k% 9:00 a.m.

ij jokuk gksrh gSa vkSj Øe'k% 240 km/h vkSj 300

km/h dh pky ls pyrh gSaA nksuks a Vsªus a vkxjk ls fdrus

fdyksehVj dh nwjh ij feysaxh\

SSC CHSL 30/05/2022 (Shift- 02)

(a) 270 km (b) 300 km

(c) 600 km (d) 240 km

63. From point H, at 6 : 30 pm, a train starts

moving towards point K at the speed of 90

km/hr. Another train starts moving from point

K at 7:30 p.m. towards point H at the speed

of 72 km/hr. Both the train meet at 11:30

p.m. at point J. What is the ratio of the

distance HJ and KJ?

fcUnq H ls ,d jsyxkM+h 6:30 vijkgu ij K dh vksj
90 fd-eh-@?kaVk dh pky ls pyuk vkjaHk djrh gSA ,d
vU; jsyxkM+h 7:30 vijkgu ij fcUnq K ls fcUnq H

dh vksj 72 fd-eh-?kaVk dh pky ls pyuk vkjaHk djrh
gSA nksuks a jsyxkfM+;k¡ fcUnq J ij 11:30 vijkgu ij
feyrh gSA HJ rFkk KJ nwjh dk vuqikr D;k gS\

SSC CGL 06/12/2022 (Shift- 04)

(a) 25 : 16 (b) 5 : 16

(c) 36 : 25 (d) 31 : 19
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64. Ajit Singh left from place P at 9.30 a.m. for

place Q, and David Raj left place Q at 1.30

p.m. for place P. The distance between them

is 416 km. If Ajit Singh’s speed is 44 km/h

and David Raj’s speed is 52 km/h, then at

what time will they meet each other?

vftr flag lqcg 9.30 cts LFkku P ls LFkku Q ds

fy, pyuk 'kq: djrk gS vkSj MsfoM jkt nksigj 1.30

cts LFkku Q ls LFkku P ds fy, pyuk 'kq: djrk gSA

muds chp dh nwjh 416km gSA ;fn vftr flag dh

pky 44km/h gS vkSj MsfoM jkt dh pky 52km/h

gS] rks os ,d nwljs ls fdrus cts feysaxs\

SSC CHSL 11/08/2021 (Shift- 2)

(a) 4.30 p.m. (b) 6 p.m.

(c) 4 p.m. (d) 5 p.m.

65. A train starts running at a uniform speed of
60 km/h from station P towards station Q. At
the same time another train starts running from
station Q towards station P. If the distance
between the stations P and Q is 275 km and
the trains meet in two and a half hours, then
what is the speed of the train running towards

station P in km/h?

,d jsyxkM+h LVs'ku P ls LVs'ku Q dh vksj 60 fdeh@?kaVk
dh ,dleku xfr ls nkSM+uk 'kq: djrh gSA mlh le; ,d
vU; jsyxkM+h LVs'ku Q ls LVs'ku P dh vksj pyuk 'kq:
djrh gSA ;fn LVs'kuksa P vkSj Q ds chp dh nwjh 275
fdeh gS vkSj jsyxkfM+;k <kbZ ?kaVs esa feyrh gSa LVs'ku P

dh vksj pyus okyh Vªsu dh xfr fdeh@?kaVk esa D;k gS\

SSC CHSL 04/08/2021 (Shift- 2)

(a) 50 (b) 40

(c) 44 (d) 48

66. Menu and Daya travel from point A to B, a
distance of 105 km, at speeds of 10 km/h and
25 km/h, respectively. Daya reaches point B
first and returns immediately and meets Menu
at point C. Find the distance from point A
to point C.

ehuw vkSj n;k Øe'k% 10 km/h vkSj 25 km/h dh
pky ls fcUnq 105 km dh nwjh r; djrs gSaA n;k igys
fcUnq B ij igq¡prh gS vkSj rqjar ykSVrh gS vkSj ehuw ls
fcUnq C ij feyrh gSA fcUnq A ls fcUnq C rd dh nwjh
Kkr dhft,A

SSC CGL 09/12/2022 (Shift- 02)

(a) 35 km (b) 60 km

(c) 45 km (d) 62 km

67. A and B leave from point M at the same time
towards point N. B reaches N and starts
towards M instantly. He meets A at point O
(between M and N). The distance between M
and N is 245 km. If the speeds of A and B
are 26 km/h and 65 km/h, respectively, then
what is the distance between O and N?

A vkSj B ,d gh le; ij fcanq M ls fcanq N dh vksj
pyuk 'kq: djrs gSaA B, N ij igq¡prk gS vkSj rqjar okil
M dh vksj pyuk 'kq: djrk gSA og fcanq O (M vkSj N
ds chp) ij A ls feyrk gSA M vkSj N dss chp dh nwjh
245 fdeh gSA ;fn A vkSj B dh pky Øe'k% 26 fdeh@?kaVk
vkSj 65 fdeh@?kaVk gS] rks O vkSj N ds chp dh nwjh
fdruh gS\

SSC MTS 05/07/2022 (Shift- 03)

(a) 115 km (b) 105 km

(c) 95 km (d) 140 km

68. X and Y start at the same time to ride from

place A to place B, which is 80 km away from

A. X travels 4 km per hour slower than Y. Y

reaches place B and at once turns back

meeting X, 16 km from place B. Y's speed (in

km/h) is:

LFkku A ls LFkku B rd tks fd LFkku A ls 80 fdeh nwj

gS] tkus ds fy, X vksj Y ,d gh le; ij ;k=kk 'kq:

djrs gSaA Y dh vis[kk X 4 lseh izfr ?kaVs /heh ;k=kk

djrk gSA Y, LFkku B ij igqapdj okil vkrs gq,] LFkku

B ls 16 lseh nwjh ij X ls feyrk gSA  Y dh pky

(fdeh@?kaVk esa) Kkr djsaA

SSC CHSL 04/08/2021 (Shift- 03)

(a) 8 (b) 12

(c) 19 (d) 9

69. The distance between two stations A and B

is 200 km. A train runs from A to B at a speed

of 75 km/h, while another train runs from B

to A at a speed of 85 km/h. What will be the

distance between the two trains (in km) 3

minutes before they meet?

nks LVs'kuks a A vkSj B ds chp dh nwjh 200km gSA ,d

Vªsu A ls B rd 75km/h dh pky ls pyrh gS] tcfd

nwljh Vªsu B ls A rd 85km/h dh pky ls pyrh gSA

feyus ls 3 feuV igys nksuksa Vsªuksa ds chp dh nwjh (fdeh

esa) D;k gksxh\

SSC CGL 21/04/2022 (Shift- 01)

(a) 5 (b) 8

(c) 10 (d) 6
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70. A car and a bus were travelling in the same
direction. At 7:30 am. the car travelling at a
speed of 72 km/h was 4.2 km behind the bus.
At 8:15 a.m. the car was 15.8 km ahead of
the bus. What is the ratio of the speed of the
car to the speed of the bus?

,d dkj vkSj ,d cl ,d gh fn'kk eas py jgh FkhA
lqcg 7 % 30 am. ij 72 fdeh@?kaVk dh pky ls py
jgh dkj cl ls 4-2 fdeh vkxs FkhA dkj dh pky vkSj
cl dh pky dk vuqikr D;k gS\

SSC Phase IX 2022

(a) 27 : 17 (b) 9 : 5

(c) 9 : 4 (d) 36 : 17

71. The driver of a car, which is travelling at a
speed of 75 km/h, locates a bus 80 m ahead
of him, travelling in the same direction. After
15 seconds, he finds that the bus is 40 m
behind the car. What is the speed of the bus
(in km/h)?

75 fdeh@?kaVk dh pky ls py jgh dkj dk pkyd] 80
ehVj vkxs leku fn'kk esa py jgh ,d cl dks ns[krk gSA
15 lsdaM ckn og ns[krk gS fd cl vc dkj ls 40
ehVj ihNs gSA cl dh pky (fdeh@?akVk esa) fdruh gS\

SSC CGL MAINS 03/02/2022

(a) 44.2 (b) 42.5

(c) 47.5 (d) 46.2

72. The distance between two places A and B is 140
km. Two cars x and y start simultaneously from
A and B, respectively. If they move in the same
direction, they meet after 7 hours. If they move
towards each other, they meet after one hour.
What is the speed (in km/h) of car y if its speed
is more than that of car x?

A vkSj B uked nks LFkkuks a ds chp dh nwjh 140 km

gSA x vkSj y uked nks dkjsa Øe'k% A vkSj B ls ,d
lkFk pyuk 'kq: djrh gSaA ;fn os ,d gh fn'kk esa pyrh
gSa rks os 7 ?kaVs ckn ,d&nwljs ls feyrh gSaA ;fn os
,d&nwljs dh vksj pyrh gSa rks os 1 ?kaVs ckn ,d&nwljs
ls feyrh gSaA ;fn dkj y dh pky dkj x ls vf/d gS
rks dkj y dh pky (km/h esa) fdruh gS\

SSC CGL MAINS 03/02/2022

(a) 60 (b) 100

(c) 80 (d) 90

73. Places A and B are 45 km apart from each other.
A car starts from place A and another car starts
from place B at the same time. If they move in
the same direction, they meet in 4 and a half
hour and if they move towards each other, they
meet in 27 minutes. What is the speed (in km/

h) of the car which moves faster?

LFkku A vkSj B ,d nwljs ls 45 fdeh dh nwjh ij
fLFkr gSA LFkku A ls ,d dkj pyuk 'kq: djrh gSA
vkSj mlh le; LFkku B ls nwljh dk pyuk 'kq: djrh
gS aA ;fn os leku fn'kk es a pyrh gS a] rks os lk<+s pkj
?kaVs es a feyrh gS a vkSj ;fn os ,d nwljs dh vksj pyrh
gS a] rks os 27 feuV esa feyrh gS aA rst pyus okyh dk
dh pky (fdeh@?kaVs a es a) Kkr djs aA

SSC CGL 24/08/2021(Shift- 02)

(a) 50 (b) 45

(c) 55 (d) 56

74. A train leaves a station A at 7 am and reaches

another station B at 11 : 00 am. Another train

leaves B at 8 am and reaches A at 11 : 30 am.

The two trains cross one another at

,d Vªsu lqcg 7 cts LVs'ku A ls fudyrh gS vkSj 11 % 00
cts nwljs LVs'ku B ij igqaprh gSA ,d vU; Vªsu lqcg 8 cts
B ls fudyrh gS vkSj 11 % 30 cts A ij igqaprh gSA nks Vªsusa
,d nwljs dks fdl le; ikj djrh gSa\
(a) 8 : 36 a.m. (b) 8 : 56 a.m.

(c) 9 : 00 a.m. (d) 9 : 24 a.m.

75. A train leaves station A at 8 am and reaches

station B at 12 noon. A car leaves station B

at 8:30 am and reaches station A at the same

time when the train reaches station B. At what

time do they meet?

,d jsyxkM+h] lqcg 8 cts LVs'ku A ls fudyrh gS vkSj
nksigj 12 cts LVs'ku B ij igqaprh gSA ,d dke lqcg
8 % 30 cts LVs'ku B ls fudyrh gS vkSj LVs'ku A  ij
mlh le; igqaprh gS tc jsyxkM+h LVs'ku B ij igqaprh
gSA os ,d&nwljs ls fdl le; feyrh gS\

SSC CGL 16/08/2021(Shift- 02)

(a) 9 : 38 am (b) 10 : 22 am

(c) 10 : 08 am (d) 9 : 52 am

76. Ram starts from point A at 8 a.m. and reaches

point B at 2 p.m. on the same day. On the same

day, Raju starts from point B at 8 a.m. and

reaches point A at 6 p.m. on the same day. Both

points A and B are separated by only a straight

line track. At what time they both meet?

jke fcUnq A ls 8 a.m. ij pyuk 'kq: djrk gS vkSj
mlh fnu fcUnq B ij 2 p.m. ij igq¡prk gSA mlh fnu]
jktw fcUnq B ls 8 a.m. ij pyuk 'kq: djrk gS vkSj
mlh fnu fcUnq A ij 6 p.m. ij igq¡prk gSA nksuks a
fcUnq A vkSj B dsoy ,d lh/h js[kk okys VªSd }kjk
i`Fkd fd, x, gSaA os nksuks a fdrus cts feyrs gSa\

SSC CGL 12/12/2022 (Shift- 03)

(a) 11:45 a.m. (b) 9:42 a.m.

(c) 10:42 a.m. (d) 12:42 p.a.
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77. A car starts from point A towards point B,

travelling at the speed of 20 km/h 
1

1
2

hours

later, another car starts from point A and

travelling at the speed of 30 km/h and reaches

1
2

2
 hours before the first car. Find the

distance between A and B.

,d dkj fcUnq A ls fcUnq B dh vksj 20 km/h dh

pky ls pyuk 'kq: djrh gSA 1
1

2
 ?kaVs ckn] nwljh dkj

fcUnq A ls 'kq: gksrh gS vkSj 30 km/h dh pky ls

pyrs gq, igyh dkj ls 
1

2
2

 ?kaVs igys igqaprh gSA A

vkSj B ds chp dh nwjh Kkr dhft,A
SSC CGL 03/12/2022 (Shift- 01)

(a) 300 km (b) 240 km

(c) 260 km (d) 280 km

78. Two trains, running between Bangalore and

Chennai, start at the same time from

theirrespective locations and proceed towards

each other at the speed of 80km/h and 95km/

h. When they meet, it is found that one train

has travelled 180km more than theother.The

distance between Bangalore and Chennai is

_______.

csaxyq: vkSj psUubZ ds chp pyus okyh nks Vªsusa vius&vius

LFkkuksa ls ,d gh le; ij pyuk 'kq: djrh gSa vkSj Øe'k%

80 fdeh@?kaVk vkSj 95 fdeh@?kaVk dh pky ls ,d&nwljs

dh vksj c<+rh gSaA muds feyus ds le; rd ,d Vªsu

nwljh Vªsu ls 180 fdeh vf/d nwjh r; dj pqdh gksrh

gSA csaxyq: vkSj psUubZ ds chp dh nwjh Kkr dhft,A
SSC CPO 10/11/2022 (Shift-01)

(a) 1200 km (b) 2100 km

(c) 345 km (d) 400 km

79. A is chasing B in the same interval of time.

A jumps 8 times, while B jumps 6 times. But

the distance covered by A in 7 jumps is the

same as that of B in 5 jumps. The ratio

between the speeds of A and B is ________.

A leku le; varjky ij B dk ihNk dj jgk gSA A 8

ckj dwnrk gS] tcfd B 6 ckj dwnrk gSA ysfdu A }kjk
7 dwnks a eas r; dh xbZ nwjh Bhd ogh gS tks B }kjk 5

dwnksa esa r; dh tkrh gSA A vkSj B dh pkyksa ds chp
vuqikr Kkr djsaA

SSC CGL 08/12/2022 (Shift- 01)

(a) 32 : 24 (b) 30 : 56

(c) 20 : 21 (d) 28 : 36

80. A dog chases rabbit. The rabbit is 125 leaps

ahead of itself jumps from dog. The rabbit can

jump 4 times in a time in which the dog can

jump 3 times. The distances covered by the

rabbit and the dog in one jump are 1.75 and

2.75 m respectively. In how many jumps the

dog will catch the rabbit ?

,d dqÙkk •jxks'k dk ihNk djrk gSA •jxks'k dqÙks ls 125
Nykaxs yxkdj vkxs fudy tkrk gSA •jxks'k ,d ckj esa 4
ckj dwn ldrk gS ftls dqÙkk 3 ckj esa dwn ldrk gSA
•jxk s ' k  vk S j  d q Ù k k  ,d Nyk a x e s a  Øe' k %
1-75 vkSj 2-75 ehVj dh nwjh r; djrs gSaA dqÙkk fdruh
Nykaxksa esa •jxks'k dks idM+ ysxk\
(a) 175 (b) 350

(c) 525 (d) 700

81. Two boys begin together to write out a booklet

containing 819 lines. The 1st boy starts with

the first line writing at the rate of 200 lines

an hour and the 2nd boy starts with the last

line then writes line 818 and so on. Backward

proceeding at the rate of 150 lines an hour.

At the end of which line they meet.

819 ykbuksa okyh ,d cqdysV fy•us ds fy, nks yM+ds
,d lkFk 'kq: gksrs gSaA igyk yM+dk ,d ?kaVs esa 200 ykbuksa
dh pky ls igyh ykbu fy•uk 'kq: djrk gS vkSj nwljk
yM+dk vafre iafÙkQ ds lkFk 'kq: djrk gS vkSj fiQj ykbu
818 fy•rk gS  vkSj ,sls gh vkxs HkhA çfr ?kaVs 150 ykbuksa
dh pky ls ihNs ls fy•k tkrk gS| os var esa fdl ykbu
ij  feyrs gSa\
(a) 467th (b) 468th

(c) 470th (d) 475th

TYPE-10
82. Dipak goes to his office covering half of the

distance by auto and rest by metro. Total time

taken by him to cover complete distance is 50

min. If he covers complete distance by metro,

it would take 35 minutes to reach the office.

On a particular day he goes to his office and

returns by auto, find total time taken in

complete journey.

nhid vius vkWfiQl tkus esa vk/h nwjh vkWVks ls vkSj 'ks"k
nwjh esVªks ls r; djrk gSA mUgsa dqy nwjh r; djus esa 50
feuV yxrk gSA ;fn og laiw.kZ nwjh esVªks ls r; djs rks og
vkWfiQl 35 feuV esa igq¡p tk,xkA fdlh fo'ks"k fnu og
vkWfiQl vkWVks ls tkrk gS vkSj okil vkrk gSA laiw.kZ ;k=kk
esa mlds }kjk fy;k x;k le; Kkr dhft,A
(a) 110 min (b) 120 min

(c) 130 min (d) 140 min
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83. Ravi travels 300 km partly by train and partly

by car. He takes 4 hours to reach. If he travels

60 km by train and rest by car. He will take 10

minute more if he were to travel 100 km by train

and rest by car. The speed of the train is

jfo vkaf'kd :i ls Vªsu }kjk vkSj vkaf'kd :i ls dkj

}kjk 300 fdeh dh ;k=kk djrk gSA mls ;k=kk iwjh djus esa 4

?kaVs dk le; yxrk gSA ;fn og Vªsu ls 60 fdeh dh ;k=kk

djrk gS vkSj 'ks"k ;k=kk dkj ls djrk gSA ;fn og Vªsu ls

100 fdeh dh ;k=kk djrk gS vkSj 'ks"k ;k=kk dkj }kjk

djrk gS rks mls 10 feuV vf/d le; yxsxkA Vªsu dh

pky Kkr djsaA

(a) 50 km/h (b) 60 km/h

(c) 100 km/h (d) 120 km/h

84. A distance of 600 Km is to be covered in 2

parts. In 1st phase 120 Km is travelled by

train and rest by car and it took total of 8

hours, but if 200 km is covered by train and

rest by car it takes 20 min more. find the avg

speed of car and train ?

600 fdyksehVj dh nwjh dks 2 Hkkxksa esa doj fd;k tkuk

gSA çFke pj.k esa 120 fdyksehVj dh ;k=kk Vªsu }kjk vkSj

'ks"k ;k=kk dkjk }kjk dh tkrh gS vkSj blesa dqy 8 ?kaVs dk

le; yxrk gS] ysfdu ;fn 200 fdyksehVj dh nwjh Vªsu

}kjk r; dh tkrh gS vkSj 'ks"k nwjh dkj }kjk r; dh tkrh

gS rks blesa 20 feuV vfèkd le; yxrk gSA dkj vkSj Vªsu

dh vkSlr xfr Kkr djsa\

(a) 80 & 60 km/h (b) 90 & 60 km/h

(c) 120 & 90 km/h (d) 120 & 100 km/h

85. A man travels 400 kms in 4 hours partly by air

and partly by train if he had travelled all the

way by air he would have saved 
4

5
 of the time

he was in the train and would have arrived his

destination 2 hrs early. Find the distance he

travelled by train.

,d vkneh 400 fdyksehVj dh ;k=kk 4 ?kaVs esa vkaf'kd

:i ls gokbZ tgkt }kjk vkSj vkaf'kd :i ls Vªsu }kjk r;

djrk gS ;fn og gokbZ ekxZ ls iwjh ;k=kk djrk gS rks og

Vªsu esa yxs le; dk 
4

5
 cpkrk vkSj og vius xarO; 2

?kaVs tYnh igqap tkrkA Vªsu }kjk r; dh xbZ nwjh Kkr djsaA

(a) 95 km (b) 85 km

(c) 90 km (d) 100 km

TYPE-11
Buses are leaving bus terminal after every 10 minutes
(T

1
)  But, a person who is moving towards the terminal

meets the bus after every 8 minutes (T
2
).

çR;sd 10 feuV (T
1
) ckn clsa cl VfeZuy ls fudyrh gSa ysfdu]

,d O;fÙkQ tks VfeZuy dh vksj c<+ jgk gS og gj 8 feuV (T
2
) ds

ckn cl ls feyrk gSA

1 2

2

T – TSpeed of man
=

Speed of bus T

1 2

2

T – TSpeed of Train
=

Speed of Sound T

Here,/;gka]
T

1
 = Time after which buses leaves the terminal.

T
1
 = le; ftlds ckn clsa VfeZuy ls fudyrh gSaA

T
2
 = Time after which it meets with the person.

T
2
 = le; ftlds ckn clsa O;fDr ls feyrh gSaA

86. Buses start from a bus terminal with a speed
of 20 km/hr at intervals of 10 minutes. What
is the speed of a man coming from the
opposite direction towards the bus terminal if
he meets the buses at intervals of 8 minutes?

clsa cl VfeZuy ls 10 feuV ds varjky ij 20 fdeh@?kaVk
dh xfr ls fudyrh gSaA cl VfeZuy dh vksj foijhr fn'kk
ls vkus okys O;fÙkQ dh xfr D;k gS ;fn og 8 feuV ds
varjky ij clksa ls feyrk gS\
(a) 3 km/hr (b) 4 km/hr
(c) 5 km/hr (d) 7 km/hr

87. Two buses start from a bus terminal with a
speed of 30 km/h at interval of 15 minutes.
What is the speed of man coming from the
opposite direction towards the bus terminal if
he meets the buses at interval of 10 minutes?

,d cl VfeZuy ls nks clsa 15 feuV ds varjky ij 30
fdeh@?kaVk dh xfr ls pyrh gSaA foijhr fn'kk ls cl VfeZuy
dh vksj vkus okys O;fÙkQ dh xfr D;k gS ;fn og 10
feuV ds varjky ij clksa ls feyrk gS\
(a) 15 km/h (b) 12 km/h
(c) 20 km/h (d) 10 km/h

88. The buses are departed after every 20 min, but
man going away from the bus depot after every
24 min get the buses. Find the speed of buses
if the speed of man is 30 Km/Hr.

çR;sd 20 feuV ds ckn clksa dks jokuk fd;k tkrk gS]
ysfdu çR;sd 24 feuV ds ckn cl fMiks ls nwj tkus okyh
cl vkneh dks ikj dj ysrh gSA ;fn vkneh dh xfr 30
fdeh@?kaVk gS rks clksa dh xfr Kkr djsaA
(a) 120 km/hr (b) 150 km/hr

(c) 180 km/hr (d) 210 km/hr
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89. Two guns are fired at 13 minutes interval. But
the passenger in the train hears the sound of
second gun after 12 minute 30 seconds of the
first. If the speed of sound is 330 m/s then
the speed of train was

13 feuV ds varjky ij nks canwdsa nkxh tkrh gSaA ysfdu
Vªsu esa ;k=kh igyh canwd ds nkxs tkus ds 12 feuV 30
lsdaM ds ckn nwljh canwd dh vkokt lqurk gSA ;fn èofu
dh xfr 330 ehVj@lsdaM gS rks Vªsu dh xfr Kkr djsaA

(a)
13

47
25

 km/hr (b)
13

45
25

 km/hr

(c)
13

42
25

 km/hr (d)
25

44
13

 km/hr

90. Two guns are fired from the same place at an
interval of 6 minutes. A person approaching the
place observes that 5 minutes 52 seconds have
elapsed between the hearings of the sound of the
two guns. If the velocity of the sound is 330 m/
sec, then at what speed the person was
approaching that place?

nks rksiksa dks ,d gh LFkku ls 6 feuV ds varjky ij nkxk
tkrk gSA ml LFkku dh vksj py jgk ,d O;fÙkQ ns•rk gS
fd nks canwdksa dh vkokt lquus ds chp 5 feuV 52 lsdaM
dk varjky gSA ;fn èofu dh pky 330 eh@ls gS] rks og
O;fÙkQ fdl xfr ls ml LFkku dh vksj vk jgk Fkk\
(a) 25 km/hr (b) 27 km/hr
(c) 36 km/hr (d) 30 km/hr

1.(a) 2.(a) 3.(a) 4.(c) 5.(a) 6.(d) 7.(a) 8.(d) 9.(b) 10.(d)

11.(a) 12.(c) 13.(a) 14.(c) 15.(a) 16.(a) 17.(b) 18.(b) 19.(a) 20.(a)

21.(a) 22.(b) 23.(b) 24.(a) 25.(a) 26.(b) 27.(b) 28.(b) 29.(d) 30.(b)

31.(a) 32.(b) 33.(a) 34.(b) 35.(b) 36.(b) 37.(d) 38(c) 39.(d) 40.(a)

41.(a) 42.(a) 43.(b) 44.(c) 45.(b) 46.(a) 47.(a) 48.(b) 49.(b) 50.(d)

51.(c) 52.(c) 53.(b) 54.(d) 55.(d) 56.(d) 57.(c) 58.(d) 59.(b) 60.(a)

61.(c) 62.(c) 63.(a) 64.(c) 65.(a) 66.(b) 67.(b) 68.(b) 69.(b) 70.(a)

71.(d) 72.(c) 73.(c) 74.(d) 75.(c) 76.(a) 77.(b) 78.(b) 79.(c) 80.(d)

81.(b) 82.(c) 83.(b) 84.(a) 85.(d) 86.(c) 87.(a) 88.(c) 89.(a) 90.(b)

Answer Key
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